1. (30%) A lossless 50-Q2 line A/8 is terminated in an unknown impedance. If the input
impedance is Z;, = -j60-Q. Find the load Z;..
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2. (35%) On a lossless 50-Q transmission line terminated with a Z; = 50-j100 Q. If this
transmission line is be matched to the load using a shorted load stub. Determine the stub
length and distance between the load and stub. Two possible answers. You only need to
show one of them.
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3. (35%) On a lossless transmission line with characteristic impedance Zg = 50-€2, the
following observation was noted: (1) distance of the first voltage minimum from the
load is Scm; (2) distance from the first voltage maximum from the load is 9cm; (3)
S=4. Find Z;..
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